RETFAN FHE E&SOMAIER o1

1. ROFHEZE L. (S35, A1, B2, C#34)

(1) 4x(-2) (2) 10— (~15)

3 -1-2-3 (4  +9-18+(-3)

(5)  +72+(3-11) (6) 20 x (=5) — (—250)

(1) 42442x(-4)-35+=(0-7) (8) (=72+33+12—-28+55) +(—1)
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2. XOitEEE L. (S0P, A1 108, BHFK23 158, C#35 208 )

(1) (=5) x (=3) (2) —20—(-11)

(3) -8-4-2 (4) —6-12+(-3)

(5)  +63 <+ (1—10) (6)  —20 x (—6) — (—200)

(1) 41244 x(-4)—-32+(0-38) (8)  (—41+33+53—27—22+14) = (-5)
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REFZAN 5HE TAOWAEE o1 RE®RS

ROFEZEF L. (S35, A1y, B2, CH34)

* T ()1 OHFIRSRICEIET 3.
K T ox g, T o= g 1dRIcEET S,

KIHDLHAZ L CRtRZ T2 59 TRT 5.

(1) 4x(-2)
= —8

3 -1-2-3
=—6

(5) 472+ (3-11)

(1) +24+2x(—-4)—35+(0—7)

— 424 -8 35+ (=7)
=424-8+5
= 424458

=29-8=421

(2) 10— (—15)

=10+15

= +25

(4) +9-18+(-3)

=4+9+6

= +15

(6) 20 x (=5) — (—250)

= —100 + 250

= 4150

(8)  (=72+33+12—28+55) = (—1)

= (+33+ 12+ 55 — 72 — 28) + (1)
= (100 — 100) =+ (~1)

=0+(-1)=0
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2.

ROGEEZE L. (S0P, A1 108, B2 158, C#H35 208 )

(1) (=5) x (=3)

= +15

3) —-8—-4-2

=—14

(5)  +63 = (1 —10)

(1) 41244x(-4)—-32+=(0-18)

= +12—16 — 32+ (—8)
= +12-16+4
— 4124416

= +16-16=0

(2) —20—(-11)

(6)  —20 x (—6) — (—200)

= +120 + 200

= +320

(8)  (—41+33+53—27—22+14) = (=5)

= (+33 453+ 14 — 41 — 27 — 22) = (—5)
= (100 — 90) = (—5)

=10+ (~5) = —2
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